Question 13

HSC 2001 - Physics
Question 13

13 A rocket car moves on a straight horizontal track. Half of the initial mass of the rocket
car is propellant. During the run, propellant is consumed at a constant rate and ejected at

a constant nozzle velocity.

Which of the following best describes the force propelling the rocket car, and the
magnitude of the acceleration of the rocket car while the propellant is being ejected?

Force Acceleration
(A) constant constant
B) increasing constant
© constant increasing
D) increasing increasing
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 12.2 10.7 7.5 2.8 1.2
B 22.2 16.2 10.1 4.5 2.4
C 46.1 55.2 65.7 82.6 85.6
D 19.4 17.7 16.7 101 10.8
N 0 0.3 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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